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{c) Write a function for the distance d (in miles) a cyclist travels in terms of the time ¢ {in seconds).
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Section 1.2
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= 2 unit circle divided into 8 equal parts to comiplete the table for selected valuss of £ (If an answer is undefined, enter UNDEFINED. }
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3 + 0M points

Evaluate the trigonometric function using its period as an aid.
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We've talked about sine, cosine and tangent.

Now, we talk about their reciprocals,

cosecant, secant, and cotangent.
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1
Find the exact values of the six trigonometric functions of the real number g a—,'_ ) —I’ (Z‘_ )1'
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